addazyT
13th Oct. SSC Quant Sunday Mega Quiz (Questions)

Q1.

What is the value of

2ecd 2

tanf+cotd
2ech

tand+cors ST HIA FAT Y
(a) cos ©
(b) tan 6
(c)sin®
(d) cot®

Q2.
What is the value of sin 88 4 sin 667
sin 86 + sin 68 & AT AT &L

(a) 2sin 76 cos 76

(b) 2 sin 76 cos 6

(c)2sin B cos 76

(d) 2 sin 46 cos 36

Q3.
What is the value of

cotx ranx

+—

1-tanx  l-cotx '

cotx ranx
mtanx | imcorx T AT AT FL
(a) sinxcosx+ 1
(b) sec x cosecx + 1
(c)tanxcotx +1
(d) sec2x cosec?2x + 1

Q4.

Find the value of =224 2%

cotA+tand
| T ——
VooseciA—1

cotd+tand  chl H[d FAld ﬁ
(a) sin? A
(b) cos Asin A

cos2 A
(c)

sec A cosec A

(d)
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Q5.

If 5sin x = 4, then the numerical value of {mm_fm:l {m”_m'x)?

secx—tanxs . 2coost k-1
- _ tanx—cotx Yy foos® x—sin®x :
TR Ssinx =4, @Y (ET) (I FT HEATOAS Hed F4T g2
2
(@) =
:
(®
I
(c) =
3
(d) ®

Directions (6-10): The given pie chart shows the stream wise distribution (in degrees) of the
candidates who applied for an entrance exam. The total number of candidates who applied was
72,0000 and out of which 5,400 have qualified the exam.

R T o€ A F g3er 78 F e sndew F ar sufieat f i ar g (R ) Rar w1 sew
FEA AT SFIATA it FT F&AT 72,0000 oft 37 ored & 5,400 7 wdveqr Sot it g

Qeé.
Non-Medical Medical/
1R __—Ffva, 18
Rrfrear, 54—
F Arts /
Commerce/ | L!"él'l 180°
Fforsar, 108°- .

What percentage of the total candidates who applied for the exams have qualified it?
T ¥ oI sraed 3 a1 o SHHIRaT | 8 fhae wiaera Sefigam ahar Sl w3 g7
(a) 0.85

(b) 0.75

(c) 0.6

(d)o.8

Q7.

Non-Medical Medical/
1R _—Ffte, 18°
ffre, 54°— |

Arts /

m 180° Special Offer

What is the respective ratio of the Arts candidates and Commerce SS c C PO
candidates? T I E R_I I

ATCH ITHITAT S HIHH ITHIQAT T G 8T ST FAT 57

(@)3:1 10 Full-Length Mocks
(b)2:1

ES))F;::E; Validity : 1Month

Commerce/ |

arforsa, 108°-\
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Q8.

Non-Medical Medical /
L e, 18
RftreaT, 54°— N
\ Arts /
Commerce / l,y |-, 180°
arforsa, 108°-\, :

What percentage of the total candidates belong the non-medical?

T SHTEAT # & fraw wiera Sefiqa aiv-atsw & §2

(a) 18%
(b) 8.33%
(c) 15%
(d) 14.28%

Q9.

Non-Medical

IR

Commerce/

Rrftvear, 540 —

aforsy, 108°-Y\

Medical/
F‘/ﬁﬁﬂr 18°

-

; 1 Arts /

~ -

| }-m. 180°

What is the average of the total candidates from Arts, Commerce and Non-medical?

e, FIAE ST AT-ATSHA & FoT SFHIGATU T S ET FIT 87

(a) 216000
(b) 296000
(c) 260000
(d) 228000

Q10.

Non-Medical
IR
Rrfircar, 54°-

Commerce /

aiforsw, 108°-\

[ ! \  Ans/
‘A’\‘ |

Medical /
_— R, 18°

j-m. 180°

If from medical and non-medical both, 1.3% candidates have
qualified the exam, then how many candidates have qualified the

exam from commerce and arts in total?

afe Afewa sl aiq-afeswa Tt q, 1.3% IFHIGard F ader St it g, ar

FHIAY AT AEH F F1 fhaa Iefigard F adem v Hr a2

(a) 3452
(b) 3168
(c) 2088
(d) 3528
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Q11. In an election of 3 candidate x, y and z. x get 50% more votes than y. x also beats z by 24700
votes. If it is known thaty get 12% more votes than z. Find the number of voters on the voting list
(Given that 80% of the voters on the voting list voted and no votes were illegal)

3 SFHIEAT X, y ¥ 2 19 |, X Fl y HF TAAT H 50% (e a1 IT9 1A & X, z FT 24700 FT  ZLaT 2
T3 7g FTq & T y &7 2 ¥ TAAT H 12% ST FTe T 2Id 5| HAGTdT o[ 9% TITAT3 0l Je&aT 1 A2 (T
oo 17 1o AaaTar Tt ° F 80% HARTATsl § HAaTd (hAT 3T Fs Ale el Al o)

(a) 24500

(b) 235300

(c) 262600

(d) 245600

Q12. Arun’s diesel bike gives an average that is 30% higher than Dev’s scooter (in term'’s of liter
per kilometer). It is known that petrol costs 20% of its price higher than Diesel. Find the ratio of
cost per kilometer of Dev’s scooter to Arun’s bike

IEUT T SIS AT a7 & The< ¥ 30% AT 3 (sfre wfa fFerrhie F aqam) i g1 I8 Ja s &
it Froa Siorer F TAAT H 20% ATAF Bl I F THe T A1 it 12 9 T e ie e 1 sama aa
oy

(a) 25 : 39

(b) 25 : 22

(c)17:25

(d)37:25

Q13. A shopkeeper gives 3 Consecutive discount 10%, 12% and 13% after which he sells his goods
at a percentage profit of 12%. Find the value of percentage profit that the shopkeeper would have
earned if he had given discounts of 12% and 13% only.

T TR 10%, 12% 3T 13% FiF 3 FHNIG Ge T g (ordeh 918 ag AT T & 12%  ATH ¢ J=9aT g
T2 a8 AT 12% 30T 13% T Fe a7 AT THIAIIT FIT AToid AT FTaerd J1d H

(a) 24.24

(b) 23.22

(c) 24.44

(d) 22.22

Q14. A 14.4 kg gas cylinder runs for 208 hours when the smaller burner on the gas is fully opened
while it runs for 160 hours when the larger burner is fully opened. Find the percentage difference
in the uses of gas per hour, between smaller & larger burner.

T FeT T T aE A AT 14T § aF T 14.4 T g Reie 208 =52
TH AT g, A I T=T 9L O A F QAT 171 § I8 160 *e TF A

eBOOKPLUS

IAT 3l B 3T T2 T4 & N7, gfa =@ {7 F 3 F wfqeq siae s
ey
(a) 0.144%

(b) 0.484%
(c) 0.256%

(d) 0.121%
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Q15. The price of raw materials has gone up by 25%. Labors cost has also increased from 30% of
the cost of raw material to 40% of the new cost of raw materials. By how much percentage should
there be a reduction in the uses of raw material, So as to keep the cost same?

g ATA it AT | 25% it I AT g1 F7 AT W Fg O i AWTT FT 30% F FF WA H¥ 78 ARG FI
40% TF T IATAT g1 FF AT & STANT | fahaer Tfvera it w4 et =y, arfe amra aam @2

(a) 22.21%

(b) 28.2%

(c) 25.7%

(d) 23.5%

Q16. 57.26% are the passing marks. A student gets 1663.67 marks yet fails by 133.7214 marks.
What is the maximum marks?

57.26% SN0 &% 3§ TH S 1663.67 3(F YA FLAT 7, 6T ¥ a8 133.7214 3T & Aol &1 STTaT 8l
srfermaw s =T 8?7

(a) 3139

(b) 3649

(c) 4869

(d) 3640

Q17. Vivekananda is 22 years younger than Umabharti. Vivekananda 's age is 72% of the sum of
his and Umabharti's age. What will be Umabharti's age 15 years hence?

EasmT AT A & 22 9 FIeT g1 FASwme it S IaHT I SHT AT il S F TRT AT 72% Bl 15 q9
1T IAT AT T Y 7T gRIT?

(a) 56

(b) 45

(c) 29

(d) 58

Q18.12% ofa =b, then b% of 50 is the same as .
aFT 12%= b, AT 50 FT b% g F T FIM?

(@) 50%ofa/3

(b) 48% ofa /2

(c) 30% ofa/5

(d) 54% ofa /3

Q19. Two numbers are 78% and 71% lesser than a third number.
By what % should the first number be increased so that it becomes
equal to the second number? A

PREMIUMPLUS

I HEAT T 1T | 78% X 71% FH gl Tgt edT @ fha % a®
FEIT AT ATRT ATl Ig AL GCAT & UL gf SAT¢?

(a) 31.81% -
(b) 45.48% S S C

() 36.51%
(d) 13.41%
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Q20. When a number is increased by 561, it becomes 151% of itself. What is the number?
S freft ST &t 561 T a2 f*aT Srar §, O I8 &9 it 151% I AT g1 ST F147T 82

(a) 1100
(b)5261
(c) 4554
(d) 2460

Q21. What will be the remainder when 141 x 142 x 143 is divided by 6?
141 x 142 x 143 F 6 ¥ AT 9 I ATHT F T F FIT TTH FHM?

(a) 0
(b) 2
(c) 4
(d)5

Q22.
If (3 + 2V5)2 = 29 + KV'5, then what is the value of K?
3 (3 +2V5)2 =29 + KV/5, 9T K &1 q19 #T §?
(a) 12

(b) 6

(c) 29

(d) 39

1

Q23.

What is the simplified value of 3 + -,-"§-I—3_ -'§+3-: .-g?
3+ "’"§+3-{,-ﬁ+3+1~,-§ FT TAEIH HE T §7
(a)2+V3
(b) 2 -3
(€) 4 -3
(d)4++3

Q24.
If x =5 + 26, then what is the value Df\-‘IE—F:,—J:??

qfEx =5+ 2/6 4l ‘x-'T-FiT T W T 27
Y

(a) 23
(b) 3V2
(c) 2V6
(d) 6v2

Q25. Which of the following relation(s) is/are true?
et § @ ot a1 dag ad &2

[.333 = 334

I1.33%= 333

I1I. 333 = 333

(a) Only I and II/ & [ 3 11
(b) Only Il and I1I/%&= 11 3 111
(c) Only I1/Fa< 11

(d) ALl L, 1T and I1I/&rft 1, 11 3/ 111

TEST SERIES

Bilingual 0

DELHIPOLICE
Head Constable
15 FULL-LENGTH MOCKS

Validity : 12 Months
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Q26. 24 women can complete a work in 45 days. If 18 women are employed, then in how many
days the work would be completed?

24 93T TF F1F &7 45 T & QU #X a6t €. I 18 WIS &t 1 I @I ATar g, O &1 il T |
e e =1 aw

(a) 60

(b) 70

(c) 85

(d) 75

Q27. A and B undertook a work for Rs 2200. A alone can do the work in 10 days and B alone can do
the work in 12 days. If they work together, then what will be the difference (in Rs.) in the amount
they receive?

A &IT B 2200 €9 9 TF FTH FT SHT A §. A ol Hrd &0 107 & 0 FT aaham § 3 B st 1 71 12
o # g T Thar 8. IR F THaTr w1 39 8, IV S G I A F Fhqw sia< gR(E ®)?

(a) 350

(b) 250

(c) 200

(d) 300

Q28. If 20% of marked price is equal to 30% of cost price. If no discount is given, then what will be
the profit percentage?

7T ST T T 20% AT T F 30% F G g. T[S S G Tl & SATt, AT ATH Traera e grm?

(a) 50

(b) 40

(c) 48

(d) 45

Q29. Which of the following successive discount is the best for the customer?
FRafifea & & S € 7R e STARET e 999 9ga< 872

1. 25%, 25%

I1. 10%, 40%

I11. 20%, 30%

(a) Only I/ & |

(b) Only 11/ & 11

(c) Only 111/ F& 111

(d) All are same/ &+t G991 §

Q30. In a mixture of 126 litre the ratio of water and milk is 2 : 5

respectively. How much water N
(in litre) must be added to make the ratio of water and milk as 2 : 3 SPeC|a| Offer
respectively?

T 126 e & Fsor # gt ofi g 7 (A AT 2:5 §. T A g * SSC CPO
ATATT T FHAL: 2:3 HIA & 7T T9R Fohaer qreit AT sar AR (Ffiex

#)? TIER-II

(a) 16

(b) 24 10 Full-Length Mocks
(c)18

(d) 20 Validity : 1Month

7 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/2970/SSC-CPO-Tier-II-Online-Test-Series-Special-Pack

